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Q.No: 1 Which of the following is not associated with Mughal monuments?

2427472
Frofafea ¥ § F9-91 g Wt & et T 82
Pishtaq
A
e
Hasht Bihisht
B
7 fafey
Petra Dura
C
SR
Shikhara
D
ez

Correct Ans : D

Subject : General Knowledge

Q.No: 2 with reference to the 'Six Day War', which of the following countries was not involved in a war with Israel?

2427554
Bg iadiia gz & Wl #, Fufifa # § oW 1 3x ToRma & 91y gg & i et ur?
Egypt
A
o
Syria
B
Wi
Jordan
C
ST
Saudi Arabia
D
EETC]

Correct Ans : D

Subject : General Knowledge

Q.No: 3 Choose the incorrect statement regarding 'Alexander the Great'.

2427578
Ridbex T F ey § e FU B 99 FE
He was the king of Macedonia

A
"Richex o' & Waly # e BT BT 70T DR
He was born in 356 BCE

B
Ih1 9 356 S91 gd | gorr o
He was taught by Socrates

C

I8 NI GRT Rigmar o
D He died in 323 BCE
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33 MEATH G AT

Correct Ans : C

Subject : General Knowledge

Q.No: 4 Which policy in India is the guiding force that helps the government decide how much money it should spend to support the economic activity, and how much revenue it must

2428974 he economy running smoothly?
YR § B I Y TRTeE I & S R B 98 99 B 3 Weg Fat ¢ o 39 ofife niafafidt o v oA F R v S T S ik, ol siforawn & uftdt B gaRs w9 9 T
Income Policy
A
3 A
Taxation
B
ERCI
Monetary Policy
C
A iy
Fiscal policy
D

BN =

Correct Ans : D

Subject : General Knowledge

Q.No: 5 Who among the following started the newspaper Indian Mirror in 1862.

2433599

Frofefia & @ fFaa 1862 A 33T AR TS TUER U3 3 YR 31 A

Aurobindo Ghosh
A

SRFE H

Rabindra Nath Tagore
B

wditg T ER

Shishir Kumar Ghosh
C

RIRR FAR Gy

Devendra Nath Tagore
D

A% MY FR

Correct Ans : D

Subject : General Knowledge

Q.No: 6  Where is the headquarters of NABARD located?

2434062
ATETE & GBI Fgl WK fYd § 2
Lucknown
A
TGS
Delhi
B
Reht
Mumbai
C
i
Chennai
D
BN

Correct Ans : C

Subject : General Knowledge
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Q.No: 7 Which of the following gases has the maximum percentage in the atmosphere?

2437276
Frofafed ¥ § fow i o1 agrisa A sifiwan ufewd 82
Carbon
A
P
Nitrogen
B
TR
Oxygen
C
SifeRiem
Hydrogen
D
e

Correct Ans : B

Subject : General Knowledge

Q.No: 8  Batukamma festival is celebrated in which state?

2440808
IeHMT I o TTeg B HATT S 87
Karnataka
A
FAed
Orissa
B
ESill
Rajasthan
Cc
RIESIE]
Telangana
D
e

Correct Ans : D

Subject : General Knowledge

Q.No: 9 Which team has won the ICC World Test Championship 2021?

2440815
1cC fay T ARmARM 2021 R a9 7 sfar?
New Zealand
A
T
Australia
B
siiegfrar
India
C
HRA
England
D
s

Correct Ans : A

Subject : General Knowledge

Q.No: 10 “To Hell with Hockey” is the biography of -
2440896

g &4 fag glal et Shtaett 82
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A Manaeep >ingn
T e
Roop Singh Bais
B
w0 Rig &9
Aslam Sher Khan
C
3 W GH
Dhyan Chand
D

M TG
Correct Ans : C

Subject : General Knowledge

Q.No: 11 C. K. Nayudu had passed away in -

2440935
b & g #1 | HE -
Bhopal
A
i
Indore
B
w©WR
Gwalior
Cc
wifeaR
Jabalpur
D
SR

Correct Ans : B

Subject : General Knowledge

Q.No: 12 Who invaded and conquered the Chanderi Fort in 1528 AD?

2441147
1528 $. T f5a =38 5l R A fopan SiR 39 W faew wia si?
Babur
A
R
Krishna Dev Raya
B
P T
Ibrahim Lodhi
C
golifew et
Rana Sanga
D

O §
Correct Ans : A

Subject : General Knowledge

Q.No: 13 In which district is the Dhamoni Fort situated?

2441241
AR e v R o Ry 32
Bhopal

A
e

B Rewa

GET IT ON

Google Play
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dar
Agar Malwa
C
SR ATerdr
Sagar
D
TR

Correct Ans : D

Subject : General Knowledge

Q.No: 14 Abdul Kadar Khatri was a famous -

2441266
3ega Prex Tl frud e wlies 42
Painter
A
ferR
Craftman
B
RrereR
Singer
C
RlILEa
Dancer
D
it

Correct Ans : B

Subject : General Knowledge

Q.No: 15 Ujjain Is situated on the bank of river.
2441427
IO T8 & @ R R g
Narmada
A
et
Banas
B
CEik]
Shipra
C
T
Betwa
D
et

Correct Ans : C

Subject : General Knowledge

Q.No: 16 Which of the following districts borders Rajasthan?

2441455
fofafea # 9 g R 3 W o & @ 32
Satna
A
T
Guna
B
T

C Ashoknagar
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XIIP IR

Mandla

Hean

Correct Ans : B

Subject : General Knowledge

Q.No: 17 Before merging to form the State of Madhya Pradesh, the Vidhan Sabha of Bhopal had how many members?

2441742
T Y I S & AT faer @ uge, e &1 faaraw & fean gaw 42
23
A
23
29
B
29
30
c
30
34
D
34

Correct Ans : C

Subject : General Knowledge

Q.No: 18 The Chattisgarh plains agro-climatic zone of Balaghat district cover which crop zone?

2441784
ST R 31 sdiaTe 1 feH P Ay &7 5 wud &9 B FR TR 82
Wheat
A
g
Maize
B
BT
Rice
c
Glc
Cotton
D
U

Correct Ans : C

Subject : General Knowledge

Q.No: 19 The main vegetable produce of Khandwa is

2441806
Teal B T ool Iu @ -
Potato
A
NS
Tomato
B
THIR
Onion
C
s
Cucumber
D
R

Correct Ans : C
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Subject : General Knowledge

Q.No: 20 What percentage of rural income is contributed by agriculture in Madhya Pradesh?

2441823
Ty ® Arivn S 1 A ufawd S g1 drer fohan S 32
80-90
A
80-90
60-75
B
60-75
50-65
o
50-65
70-85
D
70-85

Correct Ans : B

Subject : General Knowledge

Q.No: 21 What is the study of how work and heat interact in chemical reactions and state transitions?

2425899
S wifIsH R st ol ¥ Frf SR T 9 wrer frar Ra ¥, goeT st @ ¥
Statistical Thermodynamics
A
vt St
Chemical Thermodynamics
B
IR SR
Classical Thermodynamics
C
T SRR
Equilibrium thermodynamics
D

e SR
Correct Ans : B

Subject : General Science

Q.No: 22 Which one of the following is not a characteristic of phyla Echinodermata?

2428768
Frafeiea # @ SH-91 TS rgen srrsHer S fasiva T §2
water vascular system
A
el g SOt
ocean bottom
B
HENIPR d¢l
tube feet
C
TE Bie
body is protected by hard shell
D

XRR FOR EIel gRT e 3

Correct Ans : D
Subject : General Science

Q.No: 23 Match the following:
2429271
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1 | Scanty rainfall A | <50cm

2 | Heavy rainfall B 50-100 cm

3 | Moderate rainfall C >200cm
Frafarea @1 firem:

1 [ 317 gur A <50 QAT

2 | oy qur B | 50-1008#T

3 | A qur C | >200%HY

1.A,2.C, 3.B

A
1.A,2.C, 3.B
1.B, 2.A, 3.C
B
1.B, 2.A, 3.C
1.C, 2.A, 3.B
C
1.C, 2.A, 3.B
1.C, 2.8, 3.A
D

1.C, 2.B, 3.A
Correct Ans : A
Subject : General Science

Q.No: 24 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements carefully and s
2429937 the given options.

Assertion: (A) amphibians are advanced than the fishes

Reason: (R) amphibians have three chambered heart and lungs for respiration, whereas fishes have two-chambered heart and qills for respiration.

e FafafEd g & 3§ FuF § R 3 0 31 aifieE ok g &1 "SR & T H A9 1 T 71 S1us! 39 I Sl 3 IauigdE §ig SR 3 R T Y et § 3wy a1 98 Sw
Hfype: (T) SyaR TSR B gar § 37 §

BRU: (R) IHTRT T 48 & g i Sefta ged IR B3 Bid €, vl moferdl # 487 & i < wefi ged ok Taws 9 €1

(A) is true but (R)is false.

A
(A) 8 AT (R)Terd B1
(A) is false
B
(R) T §
(R) is false.
C
(R) e &
(R) is the correct explanation for (A).
D

(R) (A) ¥ g vt e 21
Correct Ans : D

Subject : General Science

Q.No: 25 The microscopic structures present in earthworm for holding the soil is -

2429943
ot 1 4R A F o FHgn A Ao GeH W -
setae
A
qQR_
chaetae
B
RS

Cc parapodia


https://applink.adda247.com/d/XhqWf9lSap

Addal247

e

annulus

qq

Correct Ans : A

Subject : General Science

Q.No: 26
2429978

Hirudinaria belongs to

fewfefn & sfmfa oran @

Annelida

TSt

Nematoda

AT

Platyhelminthes

wifeafer

molluscs

s

Correct Ans : A

Subject : General Science

Q.No: 27
2430210

Observe the picture and find out the changes that are not accompanied in the picture.

Endothermic

SIS

Exothermic

Femadt

Physical change

RIS aRads

Chemical change

IS g

Correct Ans : A

Subject : General Science

Q.No: 28
2430366

is a science, which deals with the study of stars, planets and their motions.

GET IT ON

Google Play
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K@ 193111 §, VIl IKIQIR], Y81 SR SADPTIA @ Sy ) AKINMa 61

Geology
A
Yo
Astronomy
B
it foRm
Histology
c
Fae fagr
Cytology
D
ST e

Correct Ans : B

Subject : General Science

Q.No: 29 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements carefully and s
2430382 the given options.

Assertion (A): An object floats or sinks when placed on the surface of a liquid.

Reason(R): The substance's density is greater than that of the liquid, it will sink.

P Fofafed wy # < Fu= € O @ 1@ 31 ey ok g B "SR F w0 H A9 5 T g1 omet 3 S HuU @) auTigde Sig St § oR 3T e fawedt # 9 uy &1 96 SW
SHUBU (A) : 5I B GAE W W M W DI % Rell a1 garedt 21
PR (R) : Yerd o1 9@ 59 & v9@ § e g 8, 98 T W

Both A and R are true

A

A 3R IR T ¥

Both A and R are false
B

A 3R R o §

A is true but R is false.
C

A T 3 AP R WA B

A is false but R is true.
D

A 39T § AT R TG R
Correct Ans : A

Subject : General Science

Q.No: 30 What is the formula of baking soda which is also used as a cleaning agent in the kitchen?

2430910
e HreT 1 g 71 8 S o S B Iwrg woie & = # off wEhT fvar o 82
N212CO3
A
Na:CO;
NaHCO;
B
NaHCO;
NaCl
C
NaCl
NaOH
D
NaOH

Correct Ans : B

Subject : General Science
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Q.No: 31 A tissue is a group of cells performing a function.
2432498

S PRI I TE AL ThK Fvar &
Different, different

A

e, o

Similar, specific
B

3, faRky

Different, specific
C

e, fafkre

Similar, different
D

THEAH,
Correct Ans : B

Subject : General Science

Q.No: 32 The normal body-temperature of a person is about -

2434300

T A & IR BT W TG T Rl § -

35-36 °C
A

35-36 °C

34-35 °C
B

34-35 °C

36-37 °C
c

36-37 °C

38-39 °C
D

38-39 °C

Correct Ans : C

Subject : General Science

Q.No: 33 Goiter is caused mainly due to the deficiency of -

2434350
UGS Tod: forgest wift & BROT gl 82
Vitamin D
A
e <t
Iodine
B
I
Iron
C
SIERT
Calcium
D
ek

Correct Ans : B

Subject : General Science

Q.No: 34 What is the SI Unit of Specific Heat Capacity?
2434574
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ke S enfia &1 S1 AEw 4 87

Jkg!K-!
A

Jkg!K-!

Tkg? K
B

Jkg?K-!

JkgK-!
C

JkgK!

Jkg'K
D

Jkg'K

Correct Ans : A

Subject : General Science

Q.No: 35 Psychosocial development of children was proposed by?
2439952

T F A (9B &1 Tdd g gRT fear mr ar?

Erikson
A

R

Ronald Raas
B

TS W

Piaget
G

o

Kohlberg
D

Brgaat

Correct Ans : A

Subject : General Science

Q.No: 36 Choose the correct mirror image/jpg of this combination- KJHSC987HB.
2425694

3G YOI P 9 qUW i3 gA- KIHSC987HB

gHT2@D2IHA
A

dHT2@D2IHA

dHT2QD2HAL
B

dHT2RD2HAL

gHT8QDHL2
C

gHT8RDAHL2

HdHT2QD2HLA
D

HHT2RDZHLA

Correct Ans : D

Subject : General Reasoning

Q.No: 37

2426454 Select the option /number which is related to 3" number in the same way as 224 number is related to a

1st number?
25:37:464:?
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3W TEAT /faFeT F T97 F S WY TEW F 5 9FR TaOd § ¥ @8 TEA ggelr
HEAT ¥ §ET E

25:37:64:7

37

37
82

82
102

102
92

92
Correct Ans : B

Subject : General Reasoning

Q.No: 38 Choose the numbers which is different from others in the group?

2426450

f3u U g & § fqww Y 1 797 FR?

2608
A

2608

1316
B

1316

1719
C

1719

5207
D

5207

Correct Ans : B

Subject : General Reasoning

Q.No: 39 Which of the following diagram indicates best relation between Brown Hair, Black Eyes and Chinese?

2426795
frofefea 3§ 4 &1 @ o P ardl, 4l ol iR At & dfa Te o Weiy @ axfar 82
A
O 0O
O
B
ONO,
O
C

Qoo
- @
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@

Correct Ans : A

Subject : General Reasoning

Q.No: 40 Select the Lettered pair that has the same relationship as given in the questions:
2426822

Liquor : Drink ?

I 3HER GH PT I Y foraeT ey wsli 7 3w e uuH dey 9 §:
RS : i ?

Bread : Butter

A
At uFaT
Tea : Beverage
B
I : 9 garf
Snuff : Inhale
C
I 4 A
Water : Sip
D
oo : g

Correct Ans : B

Subject : General Reasoning

Q.No: 41 Find the missing term in the following series.
2428309

1CV, 5FU, 9IT, ?, 170R

Fufifaa g § gt g 71 S
1CV, 5FU, 9IT, ?, 170R
11LS

11LS
1431

1431
1538

153S
13LS

13LS
Correct Ans : D

Subject : General Reasoning

Q.No: 42 Find the missing term in the following series.
2428329
AYDS7, BVF86, DRH73, ? , KGL41

e e d ga g 7 Fiku
AYDS7, BVF86, DRH73, ? , KGL41
GLI54

GL)54
GMJ158

GMJ158
C FMI62
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FMI62
HLK66

HLK66
Correct Ans : B

Subject : General Reasoning

Q.No: 43 If Hong Kong is in the east of London at 12k kilometre, London is in the north of Washington at 15k kilometre and Washington is in the west of New Delhi at 12k kilometre, the

2429708
e gireiv, e & gd A 12k faiiier W, der, aiites % IqeR § 15k fhamiex iR ailied, 7% foeeh & axfm # 12k frdifier # g W &, dF s, 15 Rwh 3t fow fyzn & @2
West
A
Tfm
South
B
gl
East
c
w
North
D
IR

Correct Ans : D

Subject : General Reasoning

Q.No: 44  Which answer figure will complete the pattern in the question figure?\

2433200
°° o
o ]
N
|o ?
B Wq IR B uy el F A o1 gof wwfe
°0 °I
Fau\
N
|° ?
4
- ]
A
”
- ]
/°°
[
B
I°°
[
6%
o
c
Icoo
]
4
o
]
D
VvV
o
o
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Lorrect Ans [ w

Subject : General Reasoning

Q.No: 45 Identify the figure that completes the pattern.

—
XTX
X
X TX
X
X
<
<
<
<
X
X

Correct Ans : A

Subject : General Reasoning

Q.No: 46 Identify the class that best represents the Venn-diagram.
2435594
(D

I9 a1 B UgaH B Sl -G BT Jad 331 Hafifia o g1

A Festival, Person celebrate Christmas, Person celebrate Holi
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R, i e 7R €, At Sl 7 §
Karnataka, Bijapur, Gol-Gumbaz
B
Ffew, fAR, Ma-jash
Professor, doctor, lawyer
C
TR, TSI, I
Pen, pencil, paper
D

¥, e, TR
Correct Ans : A

Subject : General Reasoning

Q.No: 47 Sohil travels 18 km southwards, and then travels 4 km to his left. Again, he travels 4 km southwards. He travels another 11 km to his right. Now he turns to his right and trave
2438504
point?

e 18 ot aferor &1 SR e B, oIk R 4 Tl oo ang SiR 9T §1 R 9, 98 4 fedt 2T 9 ofR amn Rl §1 97 o @i ofR 11 frelt ofR I 81 9@ 98 oo S AT § iR 5 f6
15 km West

15 foedt ot

7 km west

7 foudt ufdm
V338 km south west

/338 foreT gfator-afdes

15 km East

15 it od

Correct Ans : C

Subject : General Reasoning

Q.No: 48 One evening Dinesh and Swetha sat in a park such that their backs are towards each other. If Dinesh’s shadow is falling to his left then which direction is Swetha facing?

2438516
TF T T SR W % U F 39 e 96 [P T His T g 31 9K 31 AR A 31 e 3% ari iR S ¥ §, o 4 31 gE few e A §2
North-east
A
-
North
B
IWR
East
o)
o
South
D
Sfgm

Correct Ans : B

Subject : General Reasoning

Q.No: 49 Three of the following four number-pairs are alike in a certain way and one is different. Pick the one out.

2438920
Frofifd IR Jen-gml § Q dF g9 5 UeR THaEE § SR U6 I SHM 1 SR T $T 90 S
4:16

A
4:16

B 14: 196
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14: 196
12: 244
Cc
12: 244
2:4
D
2:4

Correct Ans : C

Subject : General Reasoning

Q.No: 50 Choose the group of letter which is different from other.

2439468

R F IT I B A AR

BDGL
A

BDGL

MORM
B

MORM

GIIL
o

GDIL

RTWZ
D

RTWZ

Correct Ans : B

Subject : General Reasoning

Q.No: 51 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440269 gtatement.

If you clear the preliminary exam, you will be called for the interview.
A. You cleared the preliminary exam

B. You did not clear the preliminary exam

C. You were called for the interview

D. You were not called for the interview.

fw 1T uy 7 g7 U SR IS 916 IR DU &1 FUA BT DiOd I T, TT8T Ued HUF B A gER DU ¥ 8, 3R & HUF dlihd U ¥ T8I HUT 4 T §
gfe; 3y YRR Them IR IR A €, T MUY WP R & R1g gamar smgm)

A, 3 URPE Tten O AR o 8

B. MUY WRIYE Tl g e o

C. U HTHR F fore geamar mar o

D. U W&THR P T 75T Famr 71 o1

AC
A

AC

BA
B

BA

AD
C

AD

CcD
D

cD

Correct Ans : A

Subject : General Reasoning
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W.NOI D2 Qlven question nas main statement TolIOwWea DYy Tour statements. LNoose tne oraerea pair or statements, wnere tne TIrst statement Implies tne secona, ana tne two statements
2440328 gtatement.

She is either a housewife or a working woman
A. She is a housewife

B. She is not a housewife

C. She is a working woman

D. She is not a working woman

T 7T Y F 1 U SR IEP G TR FYA 1 FYA T B0 GH T, 8T Ugd YA BT A G F9F 9 , SR & T Aifbd T @ 781 FUF J 96 8
T 1 1 O S0l § 1 U HmeTl Afgen

A. T8 T Tfeuli @

B. T8 RO T &

C. 98 TP P AR &

D. ag SIS AR T8 8

AC
A

AC

DA
B

DA

cD
C

cD

AB
D

AB

Correct Ans : B

Subject : General Reasoning

Q.No: 53 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440371 gtatement.

My mother cooks either sandwich or pen cakes for the breakfast.
A. My mother cooked sandwich for the breakfast.

B. My mother did not cook sandwich for the breakfast.

C. My mother cooked pen cakes for the breakfast.

D. My mother did not cook pen cakes for the breakfast.

f3T 0 vy § 7 Hu SR I9F A1G IR FYA §1 FUA BT B ZH I, TeT Ted HUF BT A TR $YA G 8, R A U Afdd T F TBT B T I 81
A AT & forw Fsfm a1 49 &% T

A, TR Y AR] & forg Fsfa e

B. Tt A 7 0 # Fsfam e s

C. 7 #f 7 7= & g 99 > s

D. H #f A Rd & g 47 P 78 s

AB
A

AB

DA
B

DA

cD
C

CcD

AC
D

AC

Correct Ans : B

Subject : General Reasoning
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W.NOI D4 FIng tne relatea wora rrom tne given alternatves.

2442002
Bat : Ball
faw g ey & e Wt @IS
e ;g

A Class : Student
PET : BA

B Bow : Arrow
gy : AR
Play : Cricket

C
wq : frde

D Sports : Football
od : Peara

Correct Ans : B

Subject : General Reasoning

Q.No: 55 Find the related word from the given alternatives.

2442034
Nap : Fatigue
faw U el @ el Wes &1 957 B
JUDT : UBH
Difficult : Painful
A
P TS
Aspirin: Pain
B
TR
Exercise : Strength
C
R Wi
Doctor : Disease
D

Blaex: AT
Correct Ans : B

Subject : General Reasoning

Q.No: 56 In how much time will a sum of Rs.160000 amount to Rs.390625 at 25% per annum compound interest?

2423679
M 160000 F F. 390625, 25% Wia I whafe s W i g § vud 3 ARy grfte
7 years
A
79
4 years
B
4§
2 years
C
2qf
8 years
D
g af

Correct Ans : B
Subject : General Maths

Q.No: 57 Solve:
2428604
455 + 54+ 54-45x 2+ (24 x4 + 225 +5- 17 x 4 + 26)

ko

GET IT ON

Google Play
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QID T O F D4 =4D X L+ (L4 X G+ LLD + D=1/ X4+ LD)

156
A

156

150
B

150

154
C

154

144
D

144

Correct Ans : C

Subject : General Maths

Q.No: 58 Convert into paise.

2429425
1375 paise : 18 rupees
9 & SqaE B
1375 89 : 18 ¥qT
61:79
A
61:79
17 : 40
B
17 : 40
57:73
C
57:73
55:72
D
55:72

Correct Ans : D

Subject : General Maths

Q.No: 59 A library has an average of 510 visitors on Sundays and 240 on other days.

2432544
The average number of visitors per day in a month of 30 days beginning with a Sunday is:
TF G B TR P 3R 510 R o i & 240 oigs om Bl
faaR I = g T 30 ot & md A vfofes smiget #t ofwa Tem 1 82
285
A
285
290
B
290
297
C
297
305
D
305

Correct Ans : A

Subject : General Maths

Q.No: 60 The average of seven consecutive even numbers is 36. What is the difference between the highest and lowest numbers?
2432565
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A PHICA XTH XIRSHIST @1 IR 30 §1 GTAH SR 1TEAH XIHIS H G4 SO § 7

2
A

2

5
B

5

12
C

12

15
D

15

Correct Ans : C

Subject : General Maths

Q.No: 61 The average age of four boys A,B,C and D is 5 years and the average age of A,B,D,E is 6 years. C is 8 years old. The age of E is [in years]?

2432604
IR TSHI A,B,C 3R D T 3iyd 3Ry 5 a9 § 3R A,B,D,E @ 3iad g 6 a§ §1 C, 8 9 &1 81 E BT 3G [anf ] 71 §?
12
A
12
13
B
13
14
c
14
15
D
15

Correct Ans : A

Subject : General Maths

Q.No: 62 The ratio of milk and water in a mixture is 4 : 2 after adding 5 liters of water, the ratio of milkl and water in the mixture becomes 4 : 4 Amount of milk in the mixture?

2432751
T fRyor & gy IR I &1 U 4:2 §1 5 fex arht fram & arg, frsor § g ofR Ut 31 SfguId 4:4 §) e 81 fisyor # gy 6t wEM?
03
A
03
04
B
04
o1
c
o1
o5
D
o5

Correct Ans : A
Subject : General Maths

Q.No: 63 What should comein place of question mark in the following number series?

2433083
V62 x 18 +32x9=7x3

Frafafa s=ar-dgar § wafaeg (2) F = R aEr e
V62 x18+32x9=7x3

11
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A
11
16
B
16
14
C
14
9
D
9

Correct Ans : D

Subject : General Maths

Q.No: 64 ywhat should comein place of question mark in the following number series?

2433104
264 x 125+ V227 +20+ 112 =22+ 31
Frafaiee dear-gaer § waieg (2) F =09 1< H1 AW e
26.4 x 125+ V222 + 20+ 112 =22+ 31
18
A
18
21
B
21
16
C
16
17
D
17

Correct Ans : A
Subject : General Maths

Q.No: 65 The average number of visitors to a cinema hall from Monday to Sunday is 70. The average number of viewers from Monday to Thursday is 70, and the average number of vier
2433876 pymber of viewers who came to the cinema hall on Thursday.

TIER I fAGR % Ramn g1 7 ol 3 ofrd T@m 70 ¥1 9MOR 9 TFaR 96 o] Bl SR W81 70 7, 3R THaR F IMIGR 0% g2l it oNad TS 60 1 TR S e g & o ot &

50
A

50

60
B

60

a0
c

40

30
D

30

Correct Ans : D

Subject : General Maths

Q.No: 66  Evaluate: 18.5%x3-12+4-2x10.5+5x3
2433999
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HAIDA BN 18.5x3-12+4-2x10.5+5x%3

46.5
A
46.5
22
B
22
23.5
C
23.5
18
D
18

Correct Ans : A

Subject : General Maths

Q.No: 67 A mixture of fog contains water and air in the ratio 5 : 3. On adding 8 liters of air, the ratio of water and air becomes 1 : 1. The quantity of water in the original fog is:

2434826
FHIY & fAigyor & g SR a1 HT 3G 5 : 3 B1 8 <lieR 51 SIS W UM SR 891 BT U 1: 1 8 T 31 g FIeX B U 3 e ¥
20 litres
A
20 fiR
16 litres
B
16 dicx
30 liters
¢
30 dier
25 liters
D
25 @R

Correct Ans : A

Subject : General Maths

Q.No: 68 ppiat2b _ =9
3435403 [ 3q2p ~ O themab ="

qﬁﬂ=6%,aa:b=?

4a=-2b

6:7
A

6:7

3:5
B

3:5

7:10
C

7:10

5:9
D

5:9

Correct Ans : C

Subject : General Maths

Q.No: 69 Find how much grams of copper be added to make the ratio as 4 : 5, if zinc and copper are in the ratio of 5 : 4 in 225 gm of an alloy.
2435450

& 225 79 F uF My urg F ST SR a1 P OET 5:4 F oJU H , A T8 I DY 5 ST Y 4:5 T & € a9 B R am Sivgt S 9w
A 50 gram
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50 W

52 gram

527

54 gram

54 7TH
56.25 gram

56.25 JH
Correct Ans : D

Subject : General Maths

Q.No: 70 Whatshould comein place of question mark in the following number series?

2437944
192 + 332 — 82 =73+ 55
Fafatt sear-gaar & waf=eg (2) F =T wWH Jamrangy?
192+ 332 - 82 =73+ 55
12
A
12
13
B
13
11
c
11
9
D
9

Correct Ans : C

Subject : General Maths

Q.No: 71 In a certain code language, ‘*HARRY’ is written as ‘IZSQZ’ What is the code for ‘POTTER’ in that code language?

2434420
% fAfya Gifad U §, *HARRY’ 1 38 UHR '125Q2’ foran o Uavd ¢l 34} Widhfas T & ‘POTTER’ &1 {59 USR ferar o el 87
QNUSFQ
A
QNUSFQ
QNSUFS
B
QNSUFS
SNUSDQ
C
SNUSDQ
SNSUDS
D
SNSUDS

Correct Ans : A
Subject : Mental Ability

Q.No: 72 If JOINT is coded as 36514 and VENTURE is coded as 9814720, then how will ROUTE be coded as?
2434949

Ife JOINT F1 36514 & ¥ § Hedw 51 T § iR VENTURE $1 9814720 & &0 & Feas a1 T §, T ROUTE &I $I Feas fovar smam?
14562

14562
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b P
26740
52145
C
52145
20145
D
20145

Correct Ans : B
Subject : Mental Ability

Q.No: 73 In a certain code language ‘N’ is coded as ‘28, ‘G’ is coded as ‘14’, 'V’ is coded as ‘44’ then what would be the perfect code of “DIAMOND” in the same coded language?

2434959

T fAfYd Frs wis # N7 128 TS 5 9 R, 6 P 1147 Fied 5w S ], v $ 447 Fe fvan o 8, 99 9 gfed mw ¥ “DIAMOND” &1 gfed i1 g

97
A

97

88
B

88

122
C

122

120
D

120

Correct Ans : D
Subject : Mental Ability

Q.No: 74 In a certain code language, DROP is written as 17280. How will LIKE be written as in that language?

2434975

% fAfyd Fe U1 H, DROP $1 17280 & T4 A foran o §1 3 Fe w1 F LIKE &1 H ferar smem?

5940
A

5940

6450
B

6450

7670
C

7670

8960
D

8960

Correct Ans : A
Subject : Mental Ability

Q.No: 75 In question below are two statements followed by three conclusions numbered I, II and III. You have to take the given statements to be true even if they seem to be at varian
2435485 hich of the given conclusions logically follows from the given statements.

Statements:

1. Some mangoes are oranges.
I1. Some oranges are grapes.
Conclusions:

I. Some mangoes are grapes.
II. No oranges are mangoes.

III. No grape is mango.
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F o T vy & § Fu SR ITF a1g o e 1, 11 R 111 QU §) Suen) T T Byt Y W T R, € 9 qedt @ i welia 319 3 ofR R o R s o e g e e
T

1. $© 3 TR §

11. $F IR 3R §

sy

I $T 3 AR §

11, B FeRT 3| 8§

II1. $I$ SR 31 =18 &1

Either conclusion I or III follows.

1 o s 1 a7 T1T SITER0r R B

Only conclusions I and II follow.

e s I 3R I SR Fva ]

Only conclusions I follows.

P Py 1 SR R

Only conclusions I and III follow.

e Feed 1 3R LI 3F7ERY % &

Correct Ans : A
Subject : Mental Ability

Q.No: 76 In question below are three statements followed by three conclusions numbered I, II and IIL. You have to take the given statements to be true even if they seem to be at varia
2435550 \hich of the given conclusions logically follows from the given statements.

Statements:

I. All pink are black.

II. All black are brown.
III. Some brown are gold.
Conclusions:

I. Some brown are pink.
II. All gold are black.

III. Some gold are pink.

= 4 Ty & M S ofR I9d @G i B 1, 11 9 111 AT T 1 et AT T i ) W A |, 9% 3 SR 1 il ¥ s wla g ], eimuaet oy e @ f e e et

DY

1. et Tt e g1

11, Tft Ter AR 711

111, 9 R0 e &)

e

1. 3B 4 e 3

11, Tft 7 Bren 31

111, $& Tes TarEt 81

Either conclusion I or II follows.
A

a1 e 1 a7 X1 SR R B

Neither conclusion I nor III follows.
B

T e 1 3R T E 11T SR TR B

Only conclusion I follows.
C

Fad ey 1 SR St Bl

Both conclusions I and III follows.
D

ST sy 1 3R 11T SRR 34 €
Correct Ans : C
Subject : Mental Ability
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Q.No: 77 What is the least number of cuts required to form exactly 250 identical pieces from a cube?

2438441
& ¥ 9§ Eld 250 WA HS M & [T AGGH Fel B FAGH THI T 82
249
A
249
17
B
17
24
C
24
20
D
20

Correct Ans : B
Subject : Mental Ability

Q.No: 78 Nitin ranks eighteenth in a class of 49 students. What is his rank from the last?
2439542

e 49 faenffdl # 18 of M W a1 §1 9fd ¥ IUDT RIF F18?

18
A

18

19
B

19

31
e

31

32
D

32

Correct Ans : D
Subject : Mental Ability

Q.No: 79 DIRECTIONS: In the question below are given few statements followed by few conclusions. You have to take the given statements to be true even if they seem to be at variar
2442166 (onclusions and then decide which of the given conclusion logically follows from the given statements disregarding commonly known facts.

Statements:
All kings are queens.
Some queens are soldiers.

All soldiers are strong.

Conclusions:
1. Some strong are kings.
II. Some queens are strong.

- R 2T U U 56 S ok SUS a1 o ey T T R 1 ue 2T U Syl 1 9 A € HA & § Tdaa aal @ i uedia 8 & ok R qu PR f feu e A A e -
R T 7 F5 |

U
wff 3, I E L
To I, R
oft Ry, daeR B

s
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1. v QIpaax, vl gl

11, $& AT, THAR 81

If only Conclusion I follows

A R o e 1 9 8

B If only Conclusion II follows
afe Faa Fred 11 ¥a §

If either Conclusion I or II follows

¢ s A B Kk

If neither Conclusion nor II follows

D AN ITIITAE

Correct Ans : B

Subject : Mental Ability

Q.No: 80 If in a certain code language ‘CLOUD’ is written as ‘59432’ and ‘RAIN’ is written as ‘1678, then how will 'AROUND’ be written in that language?

2442179
I T YT $Ig T § *CLOUD BI" 59432 3R "RAIN' &1 *1678 'l Sl &, 1 "AROUND’ &1 3 1o & 39 feran smem?
614832
A
614832
614382
B
614382
641382
€
641382
461382
D
461382

Correct Ans : B
Subject : Mental Ability

Q.No: 81 If M = 13 and MAT = 34, then WAX = ?

2442201
X M = 13 3R MAT = 34 §, T WAX = ?
a7

A
a7
25

B
25
a8

c
as
23

D
23

Correct Ans : C
Subject : Mental Ability

Q.No: 82 Ifin a certain code language ‘GOAT’ is coded as ‘40014467649’, then how will ‘DO’ be written in that language?

2442219
I v P Hs Ui H 'GOAT” 91 '40014467649' & FU H HifSd faran S §, @ 99 w1 # DO’ F¥ fergn smom?
529144

A
529144
222591

B
222591

C 592225
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DYLLZLD

529522

529522
Correct Ans : A

Subject : Mental Ability

Q.No: 83 From the given alternative words, select the word which cannot be formed using the letters of the given word.

2442787
DEWORMER
fou U dfoue wedl F ¥ 9% ek T S 3T T XE F 1l 1 N IR TG ST S el
DEWORMER
Worm

A
Worm
Road

B
Road
More

C
More
Rewore

D
Rewore

Correct Ans : B
Subject : Mental Ability

Q.No: 84  Which one word can be formed from the following letters ?

2442870
h owcimte
PR 2Rl § B U1 U Tsg ST ol Febell 82
h owcimte
morning
A
morning
chowtime
B
chowtime
meeting
C
meeting
champion
D
champion

Correct Ans : B
Subject : Mental Ability

Q.No: 85 From the given words, select the word which cannot be formed using the letters of the given word.

2443008
ALTERNATIVES
Frofefea fieedl 7 ¥ 76 Wea IFIT S T T Teg F &R BT WERT BB TG ST S bl g1
ALTERNATIVES
ALTER
A
ALTER
NATIVE
B

NATIVE
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TEN
NATIONAL

NATIONAL
Correct Ans : D

Subject : Mental Ability

Q.No: 86 Two taps A and B can fill an overhead tank in 22 hours and 26 hours respectively. Both the taps are opened for 6 hours and then B is turned off. How much time will A take to

2423768
A A 3R B TP RIS TF B HHER: 22 H 3R 26 T2 H R A 31 G A B 6 e F A Grer faar e B o R B 1 o7 AR i e 31 99 T ) kA F A Y e wwg @i
370/7 hours
A
370/7 @
412/91 hours
B
412/91 6
39/23 hours
€
39/23 W
36/143 hours
D

36/143 6
Correct Ans : D

Subject : General Aptitude

Q.No: 87 If the circle’s radius is 14 cm then, calculate the area of the circle.

2426196

s 7a ot B 14 34 B, @ 39 &1 dAwa I I

221 em?
A

221 H=R

556 cm?
B

556 J#:

164 cm?
C

164 &

616 cm?
D

616 T

Correct Ans : D

Subject : General Aptitude

Q.No: 88 Calculate the cylinder’s total surface area if its radius is 7 cm and height is 12 cm.

2426221
I 391 fer 7 Jt iR $as 12 It § < Rk 91 oo Oae &7 @il
746 cm?

A
746 T
836 cm?

B
836 N

c 564 cm?
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204 <1HI-

396 cm?

396 JHR
Correct Ans : B

Subject : General Aptitude

Q.No: 89 Calculate the trapezium’s area if length of its two parallel sides are a = 22.4 ¢m and b = 23.6 ¢cm and distance between them is 10 cm.

2426251

TP LU T Tag &7 P U1 T AR THD o THARR U&T 3 GaE a = 22.4 I R b = 23.6 I ¥ ok I S P g 10 I R

345 em?
A

345 dFR

235 ecm?
B

235 R

320 cm?
C

320 HR

165 em?
D

165 IR

Correct Ans : A

Subject : General Aptitude

Q.No: 90 Which of the following is divisible by 43?

2427650
frofafea & & 91 43 3 faursg §2
904431
A
904431
172215
B
172215
527108
c
527108
836261
D
836261

Correct Ans : B

Subject : General Aptitude

Q.No: 91 Which of the following is divisible by 61?

2427663
Fofafea ¥ & $9 61 3 faursg &2
456721
A
456721
864134
B
864134
976422
c
976422

D 8541356
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BO4L3D0

Correct Ans : A

Subject : General Aptitude

Q.No: 92 A577331689B is divisible by 18 find the value of 19A - 15B
2427681

A577331689B, 18 ¥ fqursd § 19A - 15B &1 AF 1T S|

16
A

16

54
B

54

27
Cc

27

26
D

26

Correct Ans : C

Subject : General Aptitude

Q.No: 93  Solve the following equations for x.
2431209
a(x+y)-cz=a(-x+vy+2z2)

x & fog ga )
a(x+y)-cz=a(-x+y+2)

z(a+c)
2a

z(a+c¢c)
2a

z(a+c)

z(a+c)
2c

y(@a+c)
2a

y(@+c)
2a

z(a+y)

z(a+y)
2c

Correct Ans : A

Subject : General Aptitude

Q.No: 94 Ajay and Vijay have some marbles with them. Ajay told Vijay “if you give me x marbles, both of us will have equal number of marbles”. Vijay then told Ajay “if you give me twi
2431213 marples than you would”, Find x.

e IR faory & U $@ S 1 o A e & we, A o g x $9 S €, @ g0 SR & U 9ue Wem § &9 g | ad fasr A ot @ wen, ol ona gt i & &, o AR g et g
a4
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6
C

6

8
D

8

Correct Ans : B

Subject : General Aptitude

Q.No: 95 The number of solutions of the system of linear equations 5x + 7y = 3 and 15x + 21y = 24 is

2431225
T TliaR 5x + 7y = 3 3R 15x + 21y = 24 F o™ & gal 3 I@N T
0
A
0
1
B
1
2
C
2
o«
D
[+

Correct Ans : A

Subject : General Aptitude

Q.No: 96 If the side of a cube is triple then how much time its area becomes.
2433815

I et w7 B e fgh & & ST et foa &1 S ®)

gt
A

[e1i3

St
B

St

10t
C

10%

Remain same
D

Sicakt

Correct Ans : A

Subject : General Aptitude

Q.No: 97  The area of a trapeziumis 600 cm?, the distance between the parallel sides is 20 cm.
2433822 r,p, of the parallel sides is 10 cm, find the length of the other side.

TF THART A T ATHA 600 T2 g, THTATAC TTAT F 1= T 347 20 THT 2
T AT AT H A TF 10 T g, AT FI T FT SAaTE T A

40 cm
A

a0 it

20 cm
B

20 3t

GET IT ON

Google Play
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N oy
30 It
50cm

D
50

Correct Ans : D

Subject : General Aptitude

Q.No: 98 If 5 person together can make 5 mats in 5 hours, then how many mats will be made by 10 person in 10 hours?
2436101

afe; 5 fE Aaex 5 a0 & 5 g &1 9ha §1 4 10 SR 10 6 F Rt wersar s

20 mats
A

20 TeR

10 mats
B

10 FeE

15 mats
C

15 TeRdT

5 mats
D

5 Tera

Correct Ans : A

Subject : General Aptitude

Q.No: 99 The present ages of Ajay and Vijay are in the ratio 4 : 3. Five years from now, their ages will be in the ratio 9 : 7. Then, Vijay’s present age is:
2436912

3org SR s 3 adAE SR F SU 4: 3 71 3@ 9 ufd oY a1, IADT 3 PT SgU 9: 7 I faey i aiHH Sy I B2

34 years
A

349§

30 years
B

3099

22 years
C

229

26 years
D

26 7

Correct Ans : B

Subject : General Aptitude

Q.No: 100 What should come in place of the question mark (?) in the following number series?
2444856

31, 29, 24, 22,17,?

Frafafea TBn Jaa & yyamEs [ (2) & RIF W &7 3 91iey?

31, 29, 24, 22,17,?

15
A

15

12
B

12
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13

16

16

Correct Ans : A

24

Subject : General Aptitude
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